1) Bob had a terminal illness and realized that he “can’t take it with him.” Therefore, he cashed in his life insurance policy and received $100,000.  He had paid $40,000 in premiums on the policy.  He used the money to fulfill his lifelong ambitions of going to the Super Bowl and driving an expensive sports car. Was Bob’s behavior consistent with the Congressional intent in providing the tax exemption for terminally ill taxpayers that he was permitted to use? Do you believe this is a loophole that needs to be closed? Why or why not?

2) John earned $123,000 working in his employer’s overseas office. He spent 345 days working overseas in 2015. What amount of John’s salary will he be allowed to exclude from gross income in the U.S?

A. 0
B. $93,764
C. $95,277
D. $99,200
E. $100,800
F. $123,000

	3) Matt and Steve form MS partnership as equal partners. Matt contributes $50,000 while Steve contributes land with a fair market value of $50,000. During the current year, MS made distributions of $75,000 to each partner. The partnership earned net income of $300,000. What amount should Matt report on his individual tax return as income from MS? (Points : 5) 
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4)
	During the prior year, Andy paid $750 of estimated state income tax payments. Andy took the standard deduction in the prior year. Early in the current year, Andy received a refund of $400 of the state tax payments. Andy immediately placed an illegal bet and won an additional $1,600. Later in the year, Andy was short on money and robbed a liquor store of $5,000. How much should Andy include in his income for the current year? (Points : 5) 
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	5. Natalie, age 58, purchases an annuity for $40,000. Natalie will receive $400 per month for the rest of her life. The expected return multiple is 20.0. At age 65, the amount that Natalie must include in income is:
(Points : 5) 
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	 6. Richie owns corporate bonds with detachable interest coupons. Interest of $1,000 is payable each January 1 and July 1. On December 31 of Year 1, Richie gave his son the coupons for the interest payments due on January 1 and July 1 of Year 2. When the interest is received by his son in Year 2, how is it taxed?

A) $1,000 to Richie and $1,000 to his son
B) $2,000 to his son
C) $2,000 to Richie
D) None, since $2,000 was taxed to Richie in Year 1.
(Points : 5) 
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	7. During 2014, Ryan and Stacy had $2,600 withheld from their pay for state income taxes. They file a joint return for 2014 and claimed the $2,600 taxes withheld as an itemized deduction on their federal tax return. Their itemized deductions total $13,300 on their 2014 tax return. Their 2014 state income tax was only $1,000 and they received a refund of $1,600 when they field their state income tax return in 2015. As a result, what amount should Ryan and Stacy include in their 2015 gross income? 

(Points : 5) 
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	8. During 2015, Anne sold several shares of stock held for investment. The following is a summary of her capital transactions for the year. What is the amount of Anne’s net capital gain or loss for the year and what is the character of the gain or loss? 

Acquired
Sold
Selling Price
Cost
2/15/15
7/15/15
$2,100
$1,400
6/25/13
8/2/15
3,500
2,300
9/25/15
12/15/15
800
1,000
12/28/12
6/15/15
600
900
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	10. Henry and Janice are married and file jointly. They have an AGI (and modified AGI) of $290,000, which includes $90,000 of salary, $170,000 of active business income, $10,000 of interest income, $15,000 of qualified dividends, and $5,000 of long-term capital gains. They have taxable income of $250,000. What is Henry and Janice's income tax liability this year, rounded to the nearest whole dollar amount?  
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	11. Harmony was self-employed for the first half of 2015, earning $19,000 of Schedule C (business) net income. During the second half of the year, she began working as an employee and earned $39,000 in salary. What amount of self-employment taxes is Harmony required to pay? (Round to the nearest whole dollar) 


12) 

Candace is claimed as a dependent on her parent's tax return. Her parents' ordinary income marginal tax rate is 34%. In 2015, Candace received $5,000 of interest income from corporate bonds she obtained several years ago. This is her only source of income. She is 15 years old at year-end. What is her gross tax liability?   (Show working)

13. ) John, a single 67 year old taxpayer, had the following income and deductions during 2015:

	Salary
	$60,000

	Interest on bank account
	$400

	Interest on city of Denver bond
	$500

	Qualified dividends
	$1,500

	Alimony paid to ex-wife
	$2,000

	Itemized Deductions
	$5,400

	Taxes withheld
	$8,000




Calculate John’s tax liability due or refund for 2015. (Show working)

14) 14. During 2015 Melanie and Brian, who are married and have two dependent children, have the following income and expenses:  

· Income 

· Salary - $150,000 

· Bank account interest earned - $10,000 

· Short-term capital gains - $3,000 

· Long-term capital gains - $7,000 

· Expenses 

· Doctors bills - $7,500 

· Hospital bill - $10,000 

· Prescriptions - $750 

· Over the counter medications - $500 

· Plastic surgery bill for Melanie’s face lift - $8,000 

· Estimated state tax payments during 2014 - $2,000 

· Balance due on 2014 state tax return paid in April 2015 - $500 

· State tax withholding - $4,000 

· Sales tax paid - $3,700 

· Gift tax paid - $2,500 

· Property taxes on home - $8,300 

· Interest paid on mortgage for qualified residence - $11,000 

· Investment interest expense - $15,000 

· Cash charitable contributions - $10,000 

· Contribution of artwork to the local art museum for display. The adjusted basis of the art is $5,000 and the FMV is $9,500. 

· Tax return preparation fees - $4,200 

· Unreimbursed employee business expenses - $5,200 

· Investment publications - $500 

They do not make any elections regarding reclassification of items. Compute Melanie and Brian’s 2015 total itemized deductions.
(Show Working)
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